Algebra 1 EOC Review		                                                Name: ____________________________
EOC Practice Test #5
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What are the solutions to the equation 2x - 2x-12=0?

A x=-4,x=3
x=-3,x=4
X=-2,x=3
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xX=-6,x=2
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As the value of x increases, which function
has the greatest rate of growth?

A f)=x"+7
B gn)=2+7"
C hx)=7-x*
D k(x)=2"+7
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Look at the graph.

Which equation represents this graph?

A y=20+0-2
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Look at the graph of the functions h(x) and p(x).

Which transformations of h(x) and p(x) translate each function so both pass
through the point (0, 1)?

A hix-1)=(x-1)?and px + 1) =20+ + 1
B. hix +1) +1)andpx-1)=2""Y+1
C. hx)-1=x-1andpx)+1=(2+1)+1
D. hx)+1=x?+1andp(x)-1=(2"+1)-1
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Which of these statements Is an example of causation?

A. When the weather becomes warmer, more meat is purchased at the
supermarket.

More people g to the mall when students go back 1o school.

The greater the number of new television shows, the fewer the number of
moviegoers.

D. After operating costs are paid at a toy shop, as more toys are sold, more money
Is made.
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A certain population of bacterla has an average growth rate of 2%. The formula
for the growth of the bacteria’s population Is A = P, - 1.02', where P, Is the
original population and t Is the time In hours.

If you begin with 200 bacteria, about how many bacterla will there be after
100 hours?

A 7
B. 272
c. 1449

D. 20,000
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What Is the vertex of the graph of f(X) = X2 + 10X - 9?
A. (5,66)

B. (5.-9)

C. (-5,-9)

D. (-5,-34)
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‘Which pair of inequalities is shown in the graph?
y

y>-x+landy>x-5
y>x+landy>x-5
y>-x+land y>-x-5

y>x+landy>-x-5
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The perimeter of a rectangle Is P = 2w + 2/ where w Is the width of the rectangle
and | Is the length of the rectangle. Rearrange this formula to find the width of the
rectangle.

A w=P-2I
_ P
Ta-l

B. w
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Which of these Is the result of completing the square for the expression
X2+ 8x - 307

A (x+47-30

B. (x+47-46

C. (x+82-30

D. (x+872-94
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Which function represents the sequence?

31

oo w>

finy=n+7
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A population of squirrels doubles every year. Initially, there were 5 squirrels.
A blologist studying the squirrels created a function to model thelr population
growth: P(t) = 5(2), where I the time In years. The graph of the function Is
shown.
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What Is the range of the function?

A. any real number

any whole number greater than O

any whole number greater than 5

any whole number greater than or equal 10 5
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If f(12) = 4(12) - 20, which function gives f(x)?

>

1x) = 4x

. )= 4x- 20
. ()= 12x - 20
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